Unit 2b Growing Plants
Problem Solving

Q1. The line graph below shows how temperature effects the germination of seedlings.
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a. At what two temperatures was the percentage of seedling germination 50%.

b. At what temperature range was the percentage of seedling germination above 80%.

Q2.   The diagram below shows the set up of part of an experiment to determine conditions required for germination to occur. 
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a. Name two variables that would have to be kept the same to ensure that this is a fair test.
b. How could the experiment be changed to look at the effect of temperature on the germination of cress seedlings? 

c. What is the function of a control in an experiment?

Q3.   The table below shows the number of leaves on six different seedlings 5 days after germination 

	Seedlings
	Number of Leaves 

	A
	2

	B
	3

	C
	2

	D
	4

	E
	1

	F
	4


a. Draw a bar graph to represent this data.
b. In this experiment, what was the average number of leaves on a seedling?

Q4.   200 plants were sampled from a garden and the method of seed dispersal for each plant was noted. The results are shown in the table below. 

	Method of Seed Dispersal
	Number of Plants

	Wind
	110

	Animal Internal
	60

	Animal External
	30


a. Which of the methods of seed dispersal was the most common?

b. What is the ratio of plants that disperse seeds using animal internal to those that use animal external, expressed as a simple whole number ratio?

Q5.   The table below shows the distinguishing features between four different flowers.
	Name of the Flower
	Hairs on the Stem
	Number of Flowers on the Stem
	Veins on the Petals

	Bloody Cranesbill
	Present
	One
	Absent

	Wood Cranesbill
	Present
	Two
	Absent

	Shining Cranesbill
	Absent
	Two
	Absent

	Veined Cranesbill
	Present
	Two
	Present


Complete the key below using the table above.
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Q6.   The following table shows the results of an experiment with cress seeds.

	Number of Seeds Planted
	300

	Number of Seeds Germinating
	210


Calculate the percentage of germination failure in this experiment. 

